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1 LN ES 70 67 137
2 HEEZRLE 221 224 445
3 FLLRERBES— 2,044 2,161 4,205
4 A NER 1,845 1,983 3,828
5 CEIFXREE 1,394 1,305 2,699
6 EETSEE 1,066 1,172 2,238
7 BE/MER 958 981 1,939
8 BAETR=E 1,230 1,178 2,408
9 ZIzHT 1,133 1,280 2,413
10 AR 1,928 2,099 4,027
11 INERKR 1,107 1,175 2,282
12 BEPZER 1,381 1,467 2,848
13 FHEE 1,196 1,345 2,541
14 BEE/PMER 1,507 1,552 3,059
15 HARPhR=ME 1,150 1,037 2,187
16 HE=tE 997 1,112 2,109
17 BAHFPMER 1,618 1,918 3,536
18 ;%@f;:ﬂ%ﬁ(ﬁ%ﬁw 804 878 1,682
19 BAHFRE 1,860 2,146 4,006
20 BAHFHER 1,436 1,589 3,025
21 BWHEE 1,210 1,400 2,610
22 SNARE 1,242 1,410 2,652
23 FHIE 1,114 1,126 2,240
24 EtREE 59 71 130
a H 28,570 30,676 59,246
8 |EnBzALEERER 12 21 33




